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21 3.10 . 3.90 5.20 _l—l_ 16. 40 3.00 1.70 12 L 24 3.60 4.90 2.4
3.60 1.30 ° 3.60 0.3 03
— o < od « =Y 5 s w© < 1.00 | |«
g S g g E E 5 2 g g
5 5 5 E 5 E & & £ 5
& & % ] fl-10s.76 5  _EL108.93% _EL=100.04 % ] &
EL=107. 92 EL=107.99 EL=108.09 ELE108.26
A e = s s $upT 2 EL=107.72
_ wl? : - S W
EL=106.92 EL=107. 18 wl? pid ™3 o | wemm _EL=107.25 . | 2|
EL=106. 68 — = (& |5 BHERLR T 0y HEEE i -p @ N E 8§ | [TYHT .
sha sl 3k _mAFE i | ARes - maRen |y gle g B
= . mEmen S a2 =P I ————— ey ey S EL=107. 61 & Snyrmms o | [# = oy RER(1:0.3) o
S S 5o 7 < - = = BT 7 - = T T T s
@ e TavomER [ I~ 2 o - = - HEE(:0.3) 7 FUMT| L Z 3 L2Nol =
o 2 s - | o S\ 2\ —— I = Ao ] [ M = =i W G I i
Q = e A I .
b —';—————EI——— SIS T ELo106 61 / EL=106. 87 - ® 1= © NE /
= > z = EL=106.72 | =106. - -
S T EL=106.24 JoyoBER MEPEET .50 EL=106. 24
1 \ - = Y \ =
EL=106. 19 3 7o EL=106. 19
EL=104. 90 \ EL=105. 19 EL=105. 19
H EL=104. 99 EL=105. 10 EL=104.99 3’5{) \m
138/hOUET .
H=3. 23m | 1SEET 158/ 0T 165/ EUET
H=4. 37m H=3. 77m H=3. 76m
2EHEET
25HT H=4_ 54m
DL=100. 00 T T DL=100. 00 ssET

H=2.19m




HEES 6/7 ‘ B R ‘ BR
BEEE SMAEE

E AIKEEEIE

B ®H B |59
5w EEAN AR
TEERT ZIRTEIERTER

"

IEHS Fl445

15/h01ET
(ASECT33.4) H=2

.44

200

1990

2440

450

A = 1/2x (0.862+1.061) x1.990+1/2x (1.161+1.026) x0.450 = 2.405

-k V= 2.405%0.30 = 0.72
B (—) A= 2.405%2+0.450%0.30 =

(k) A =2.143%0.30 = 0.64

1990

450

S —
s fER=ET
SEEN
BRERLBE IOy VEER Kigary)—+bk JovyERT BEER
Y- R R $=1:100 $=1:30 $=1:30 BED $=1:30
(227, 0. 81t/m2) 15 25
Xigaryy—t /
= <%0 / /
862 894 avyyu—t /
avyy—t avyy—t = /
o ok=18N/m2 o ck=1aN/m2 o ck18N/mz 001/%’/
/
r& I g -
BN
N )
Juf S
lel\ ~/ 7 / 00 550 0Q\
/ 750
Rigavou—k  10m%y RiFavoy—k  1m&y HRT ony AT 10m% Yy
El % & ] % = i S [ 5 | % & |
-+ 1.36 m3 -+ 1.52 m3 -t 1.360 m3 [t [ o57om |
) 412 m EEC 470 m EEC) 4.50 m2
HEEH 7.50 m2
25/AILET 35/hOlT 45/hOLT (15FI)
(ASECT36.6) H=2.37 (BSECT92.0) H=2.33 (BSECT98.2) H=2.96
862 300, 862 300, 300,
I~ , /\ .
I/
g s /. s s
sl 5 N S8 S g e
° o & 54 /S 2 2 8 8 °
N & / & ~ o~ gl &
1oo / 1054/ gl s
/I o o
~</ 2 2 2
r___j.l <t
1019 50 gl

A = 1/2x (0.862+1.054) x 1.920+1/2x (1.154+1.019) x 0.450 = 2.328

1730

2110

380,

2390

Y-+ V =2.328%0.30 = 0.70
4.95 B (—) A =2.328%x2+0.450%0.30 = 4.79
BPr({k) A =2068x0.30 = 0.62
15/hOIET 85/ AT
(DSECT108.7) H=2.11 (DSECT112.3) H=2.39
a0g a0g
§ o =3 =3
-l = gl 8 2
b~ gl & 5
&
g
g g
1.895 A=1/2x (0.862+1.071) x 2.090+1/2 x (0. 323+0. 523) x0.500 = 2. 231

A=1/2x (0.862+1.035) x 1.730+1/2 x (0. 409+0. 609) x 0. 500 =

Y-+

BF(—) A =1.895x2+0.323x0.30 = 3.89

B (k)

V =1.895x0.30 = 0.57

A = (2.272-0.323) x0.30 = 0.58

-k vV =2.231x0.30 = 0.67

BH(fE) A= (2.574-0.323) x0.30 = 0.

B (=) A= 2.231x2+0.323x0.30 = 4.56

68

-k V= 1.950x0.30 = 0.59

B (—) A =1.950x2+0.323x0.30 = 4.00

BH(E) A = (2.509-0.323) x0.30 = 0.

66

A=1/2x (0.862+1.022) x 1. 600+1/2 x (0. 786+0. 986) x 0. 500 = 1. 950

1350

98/hOLT
(ESECTI07.5) H=1.35
862 300,
[~

Y-+

V=1.172%0.30 = 0.35

BF (=) A=1.172x2+0.323x0.30 = 2.44

BHUE) A= (1.454-0.323) x0.30 = 0.34

A=1/2x (0.862+0.967) x 1.050+1/2 x (0. 323+0. 523) x0.500 = 1.172

TYRT A T A K o R AR S BT
§=1:50 ANIEN<3. 0D S
&
HEE (¢ 3500954) .10 £ l
//4?77‘ ST @k opd
(6400) 8
H
I% g
ABT0SHE &
KEEDS5 $110xh108cm o
- ) 2
== L“ *2 = y’;
BK 105 IZ §
AT wzEons | PR
o ck=18N/mm2
(CSECT100.5) H=2.58
862 300

2480

I~

2960
2580
2280
1760
2580

820

300,

-k V= 2.754%0.30 = 0.83
B (—) A= 2754x2+0.323x0.30 = 5.60

B (k) A = (3.188-0.323) x0.30 = 0.86

A=1/2x (0.862+1.110) x2.480+1/2x (0.517+0.717) x0.500 = 2.754

480
i

A=1/2x (0.862+1.038) x 1.760+1/2 x (0.883+1.083) x0.500 = 2. 164

Y-k V= 2.164%0.30 = 0.65
BIF(—) A =2164x2+0.323x0.30 = 4.42
B (k) A= (2.779-0.323) x0.30 = 0.74

NS0T
(FSECT120.6) H=3.00
862 2300,

]

1830

105/hAET
(ESECT112.3) H=1.83
300,

9=+

1830

3000
2550
2550

3000

V =1.647%0.30 = 0.49

B#(—) A =1.647x2+0.323x0.30 = 3.39

B#E) A= (1.971-0.323) x0.30 = 0.49

A=1/2x (0.862+1.015) x 1.530+1/2x (0. 323+0.523) x0.500 = 1. 647

450,
450

A =1/2x (0.862+1.117) x2.550+1/2x (1.217+1.082) x 0. 450 = 3.041

wh-b V= 3.041x0.30 = 0.91

B (—) A = 3.041x2+0.450x0.30 = 6.22

BH(E) A =2.746%0.30 = 0.82

EERYIVIU—F

$=1:20

ERYaAVIY—t
o ck=18N/mm’

%

65/ AT
(CSECT105.4) H=2.99
300,

1740

2690

2990
2990

1250

300,

A=1/2x (0.862+1.036) x 1. 740+1/2 x (1. 346+1.546) x 0.500 = 2. 374
-k V= 2.374%0.30 = 0.71

B (—) A =2374x2+0.323x0.30 = 4.84

BH (k) A = (3.220-0.323) x0.30 = 0.87

125/hOtET
(FSECT141.1)  H=3.09
862 300,
]\ 7
/
/
/
/
e
=3
g Ny g
gl & S g
8 8
(=3 [=3
2 2
1091
A = 1/2x (0. 862+1.126) x 2. 640+1/2x (1.226+1.091) x0. 450 = 3. 145
-t V =3.145x0.30 = 0.94
BH(—) A =3.145%x240.450x0.30 = 6.43

BP(fE) A =2.843x0.30 = 0.85




HEES 7/7 ‘ B R ‘ BR
BEEE SMAEE

E AIKEEEIE

B g H B |5
5w EEAN AR
TEERT ZIRTEIERTER

"™

IEHS Fl445

135/h0O1ET

(HSECT156.1)  H=3.23

20

2780

3230

2780

450

450J_

re

3230

A =1/2x(0.894+1.172) x2.780+1/2x (1. 272+1.092) x 0. 450 = 3.404

9=k V =3.404x0.30 = 1.02

B (=) A= 3.404x2+0.450%0.30 = 6.94

B (k) A =3.108x0.30 = 0.93

15%T
(SECT 98.2) H=1.20
BEAR
i
F=77
! ;o
/ /
3.29 / / /
S/ / )
¥/
o7 )
/ / !
%R RAR /]
/ /
H] = /o
o > o ) / /
S e < < L _ll
- SHEAR =
b \ /
~< JI
avyy—t 2.48
(o ck=18N/mm2)
(t=0. 30m)

A= 1/2x(2.48+3.29) x1.20 = 3.462

Y-k Vv =3.462x0.30 = 1.04

BF (=) A=23.462x2=6.92

145/h01ET
(HSECT190.0) H=3.72

200
g g
g ° &
8 5
—t
3 3
$ g
1 N P r
A = 1/2x (0.894+1.221) x3.270+1/2x (1.321+1.141) x0. 450 = 4.012

H @i

1.00

1.19

avy)—+r
(0 ck=18N/mm2)
(£=0. 30m)

h-b V =4.012%0.30 = 1.20
B (—) A =4.012x2+0.450%0.30 = 8.16

Bk (fE) A =3.656x0.30 = 1.10

25HT
(SECT167.0) H=2.19
H, 1&Fr

A= 1/2x(1.65+3.84) x2.19 = 6.012

Y-k Vv =6.012x0.30 = 1.80

B#(—) A=6.012x2 = 12.02

155/ 01T
(ISECT169.5) H=3.77

20

3770

3320
3320

3770

450J_
AR

450,

1146

A = 1/2% (0.894+1.226) x 3.320+1/2x (1.326+1.146) x 0.450 = 4.075
hY-b V =4.075%0.30 = 1.22
B (—) A =4.075x2+40.450%0.30 = 8.29

B (fE) A =23.712x0.30 = 1.11

1SAETQSHT) £
(HSECT167.0) H=4.37

30

4370

3920
3920

4370

450J_

450

A = 1/2% (0.894+1.286) x3.920+1/2x (1.386+1.206) x 0. 450 = 4.856

whY-b V= 4.856x0.30 = 1.46

B (—) A =4.856x2+0.450%0.30 = 9.85

B (k) A=4.383x0.30 = 1.31

165/ 01T
(ISECT168.6) H=3.76

200

3760

3310
3310
3760

450J_

450

1145

A = 1/2x (0.894+1.225) x3.310+1/2x (1.325+1.145) x0.450 = 4.063
Y-k V= 4.063x0.30 = 1.22
Tt (—) A =4.063x2+0.450x0.30 = 8.26

RtE(fE) A =3.701x0.30 = 1.11

25REIQSFI)AR
(ISECT167.0) H=4.54

4540
4090
4090

4540

450J_

450

A = 1/2x (0.894+1.303) x4.090+1/2x (1.403+1. 223) x0. 450 = 5.084

4=k V =5.084x0.30 = 1.53

BH(—) A =5084x2+0.450%0.30 = 10.30

B (k) A =4.573x0.30 = 1.37
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0-0002

X1000
1441
Y1AO01 1
1
Y1A0101 2
1
Y1A0101013
1
Y1A010101401
30
SPK210080001
30 0O -0001
Y1A010101401
20
SPK210080001
20 0O -0002

Y1A0101033




0-0003

Y1A010103401

2.5m
20
( ) SPK210800014
2.5m
20 0O -0003
Y1A010103406
7
( ) SPK21080007
( )
7 0O -0004
Y1A010103408
CBR2O0
5
FOO0O000O0OO0OO04
5
Y1LA01010863
1
( ) Y1LA010106401

20

20

SPK210080024

0O -0005




0-0004

Y1A010106401

30
SPK210080024
30 0O -0006
Y1A0101083
1

60

Y1A01010840 2

DI

12.

Ok m

(

9.0km )

60

SPK210080002

0O -0007

60

Y1A01010840 3

#0041

60

FOO0O00000O01

Y1LA0107 2




0-0005

Y1A0107013

1
Y1A01070 140 2
30
SPK21000015
(
30 0 -0008
Y1A01070 140 2
6
SPK21000001
(ri1)
6 0 -0009
Y1A01070140 3
20
( ) SPK21000007
( )
20 0 -0004
Co (Co Y1LA0107033
1

ock=18N/ m2

64

Y1A010703401




0-0006

18-8-40BB

SPK210080048

9 0O -0010
Y1LA010703401
ock=18N/ m2
17
voooO1 0O
H=300 W=280-100
17 0O -0011
Y1LA010703406
( ) 50cm
46
SPK21080036
( ) 50cm
46 0O -0013
( Y1LA010703408
150 50mm
65
( ) SPK210800414
150 50mm
65 0O -0014
( ) Y1LA010703408
RC- 40
20
( ) SPK210800414
RC- 40

20

0O -0015




0-0007

( )
t=10mm 9.

8k N/ m

46

Y1A010703409

1
=
o~
3
3

9.

8k N/ m

46

SPK210080046

0O -0016

Y1A010703413

1
5
SPK2100800409
18-8-40BB
5 0O -0017
Y1A010703413
2
6
SPK2100800409
18-8-40BB
6 0O -0017
Y1A010703414
ock=18N/ m2
16
1 Vo030 00
H=2. 44
1 0O -0018
2 vo031 00O
H=2. 37

0O -0022




0-0008

3 vo0o32 00
H=2.33

0 0023
4 vo033 00
H=2.96

0 0024
5 vo034 0O
H=2.58

0 0025
6 vo035 00
H=2.99

0 0026
7 vo036 00
H=2.11

0 0027
8 voo37 00
H=2.39

0 0028
9 voo38 00
H=1. 35

0 0029
10 vo039 00
H=1.83

0 0030
11 vo040 0O
H=3.00

0031




0-0009

12 voo41 0O
H=3.09

0O -0032
13 vo042 0O
H=3.23

0O -0033
14 vo043 0O
H=3.72

0O -0034
15 vo044 0O
H=3.77

0O -0035
16 vo045 0O
H=3.76

0O -0036

Y1A0107083

ock=18N/ m2

Y1A010708401

1 vVO0O50 0O
H=4.37

0O -0037
2 vo0O51 00
H=4.514

0O -0038




0-0010

ock=18N/ m2

Y1A010708401

1 vo0o60 0O
H=1.20

0 -0039
2 voo61 00
H=2.19

0O -0040

Y1A01009 2

Y1A0109013

Y1A01090140 4

SPK21000017

0O -0041

Y1A0109053

ock=18N/ m2

Y1A010905401




0-0011

18-8-40BB
( )

SPK210080140

0O -0042

Y1AO0114 2

Y1A0114063

Y1A011406414

SDT00006Q

0O -0043

Y1A0114163

Y1A011416401

DI D 8. Okm

(

5.

7km )

SPK21000138

0O -0044

Y1A011416402




0-0012

#0041
WO00O01
4
Y1LA0107 2
1
Y1LA0101013
1
Y1LA010101401
20
SPK210060001
20 0O -0001
Y1LA010101401
6
SPK210060001
6 O -0002

Y1A0107013




0-0013

Y1A01070140 2

6 m
SPK210@80015
(
6 m 0O -0008
Y1LA01070 140 2
0. 8m
SPK21080001
(rir)
0. 8m 0O -0009
( ) Y1LA0107113
1
Y1A010711405
50 m
( ) SPK210800514
50 m 0O -0045
Y1LA010711407
ock=18N/ m2
6 m

18-8-40BB

SPK210080056

0O -0046




0-0014

Y1J01 1
1
Y1J0o101 2
1
Y1J0101013
1
Y1J01010140 4
04
S1050008
04 0 -0047
Y1J0101043
1
Y1J010104419
2
( BH SHD10008
2 0 -0049

SHD10OOQ®

0O -0051




0-0015

Y1J010104419

6
( BH ) SHD100O0G
6 0O -0049
SHD100MDA®
6 m
6 0O -0051
Y1J0101063
1
Y1J010106401
0 40
34
SHD100G®
6 0O -0053
S10500060
0 40 ( m3/ h)
34 0O -0055
Y1J01010 83
1
300 Y1J010108403

31




0-0016

SPK21080080
00 mm

w o
oo

131 m 0O -0058

Y1A0101083

1

Y1A01010 1408

420 m3
SPK210080007

420 m3 0 -00014
Y1A010108402

)

420 m3

SPK210080002
)
12.0km (9. 0km )

420 m3 0O -0007
Y1A01010840 3

420 m3

#0041

FOO0O00000O01




0-0017

#0020 = ) .
Z0004
YZZ04 2
1
YZZ04001 3
1
YZZ04001040 4
17.
( , H , S1000000@
12. 9km
12m
1 0O -00509

Z0019




0-0018




0-0019




SPK21040001

( )
30.15% : 58.62% : 11.23%
( ) ( )
( )
2 30.15%
28/ 0.2m3 0
) (
58.62%
1.

, 2 4KL 11. 23%

m >
i

~N R




SPK21040001

25.53% : 68.50% : 5.97%
( ) ( )
) (
3 14.23%
0.6m3 0.8/
) (
7.24%
) (
2.56% 2
0.6m3 0.8/
¢ )
37.21%
¢ )
13.99%
12. 98%
¢ )
1.2
, 2 4KL 5.65%

o




0-0022

SPK21040001 0 -0002
1 m3
25. 53% : 68. 50% : 5. 97% : 0. 00% 3,376
( ) ( ) ( ) ( )

( ) EZ0O0O9

EPOO1
A=3 B=2
H=2 (50, 000 m3 ) | =1




( ) SPK210400014 0O -00083
2.5m 1 m3
: 0. 78% 99. 01% : 0.21% 0. 00% 5,709
( ( ) ) (
> ( ) KTPC0O00QS8
0.8 1.1t 0. 78% [ ] KTPT000QS8
0. .1
RTPCO0O0O0Q2
90. 40% RTPT000Q2
RTPC000Q1
8. 61% RTPT000Q1
1. TTPCOOO113
, 2 4KL 0.21% TTPTO00O0113
EPOO1
A=1 5m




( ) SPK21040007 0 -00014
( ) 1 m3
30.15% 58.62% : 11.23% : 0.00% 982
( ( ) ( ) ( )
( ) ( ) MTPC000€§2
2 30.15% 2 MTPTO0006§2
0.28/ 2m3 0.28/ 0. 2m3
( ) ( ) RTPC000(Q6
58.62% RTPT000(Q6
1.2 TTPCO0OO0O013
, 2 4KL 11. 23% TTPTO00013
EPOOL1
A=1 B=4 ( )




SPK21040024 0 -0005

) , 1 m2

10. 84% 79.28% : 9. 88% 0. 00% 783
( ( ) ( ) (
< > ( ) KTPC00O018
0. 8m3( 0.6) 10. 84 % KTPTO0O0O0O18
( 1,2,3 0. 8m3( 0. 6m3)

RTPC0O000(Q2
38.44% RTPT000(Q2
( ) ( RTPC0O000(Q6
21.93% RTPT000(Q6
RTPC0O00O0Q9
18. 91% RTPT000(Q9
1. TTPCO0O0O013
, 2 4KL 9. 88% TTPT00013

EPOO1

A=2 C=2
D=2 , E=1 - ( )




SPK21040024 0O -0006
|
9.75% : 81.37% : 8.88% : 0. 00%
( ) ) ( ) ( ) (
0.6) 9. 75%
1,2, 3 ) 0. 8m3( 0. 6m3)
42.25%
( )
19.72%
19.40%
1.2
2 4KL 8. 88%
A=2 C=2
D=4 | E=1 - ( )




SPK21040002 0 -0007
( ) DI D 12.0km (9.0km )
19.75% : 70. 85% : 9.40% : 0.00%
( ) ( ) ( ) (
[ ] [ ]
2t 19.75% 2t
( ( ) ) ( ( ) )
( ) ( )
70. 85%
1.2
, 2 4KL 9.40%
A=2 B=6 0. 13m3(
c=1 ( ) D=1 DI D
F=45 12.0km (9. 0km )

N~




SPK21040015

( )
22.07% : 70. 62 %
( ) ( )
( )
2 22.07%
0.28/ 0.2m3
( )
38.15%
32.47%
., 2 4KL 7.31%
A=1
E=1 - ( )




2. 65%

U"A

1)

R~ W0
X

PK21040001

1.

84 %

0

0.00%

-00009

1 m3

)

E

5.

Om3/ min

0.

7 MP a

.17 %

5.

E
Om3/ min

1

0.

7 MPa

20kg

. 46 %

20kg

65.

23%

29.

34%

, 2 4KL

. 83%

EPOO1

o



0-0030

o>
i

N W

SPK21040001 0 -0009
(11) 1 m3
2.65% : 95.51% 1.84% 0.00% 12, 454
( ) ( ) ( ) ( )
B=3

(rtr)




0-0031
SPK21040048 0 -0010
18-8-40BB 1 m3
: 2. 58% 69.99% : 27.43% 0. 00% 66, 104
( ( ) ( ) (
< > ( ) KTPC0O000(Q6
0. 8m3( 0.6) 2.9t 1.82% [ KTPT000(Q6
( 1, 2, ( 2 ) 0.8m3 2.9t
< > ( ) KTPC00O018
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RTPC0O00O0Q9
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RTPCO0OOGQ(
4. 29% RTPTO0O0OG(C
RTPCO0OOGQ(
2. 79% RTPTO0O0OG(C
RTPCO0OOGQ(
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( ) ( RTPC0O0O0OdS6
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150 50mm 39. 73% RC- 40 TTPT000Qd8
1.2 TTPCO0O0O0213
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( ) ( ) ( ) ( )
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H=2.37
0-0019
18-8-40BB 0.70m
)
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4. 79 m
0-0021
0.62m
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0-0050

3 v0032 0O -0023
H=2.33
0-0019
18-8-40BB 0.59m
( )
0-0020
4., 00m
0-0021
0. 66m
0. 66m




0-0051

4 v0o033 0O -0024
H=2.96
0-0019
18-8-40BB 0.83m
( )
0-0020
5. 60m
0-0021
0.86m
0.86m




0-0052

5 V0034 0 -0025
H=2.58
0-00109
18-8-40BB 0. 65m
( )
0-0020
4. 42m
0-0021
0. 74m
0. 74m




0-0053

6 V0035 0 -0026
H=2.99
0-00109
18-8-40BB 0.71m
( )
0-0020
4. 84 m
0-0021
0.87m
0.87m




0-0054

7 V0036 0 -0027
H=2.11
0-00109
18-8-40BB 0.57m
( )
0-0020
3.89m
0-0021
0. 58m
0. 58m




0-0055

8 v0o037 0O -0028
H=2.39
0-0019
18-8-40BB 0.67m
( )
0-0020
4. 56m
0-0021
0.68m
0.68m




I ©

0-0056

v0o038 0 -00209
=1.35
0-00109
18-8-40BB 0. 35m
( )
0-0020
2.44m
0-0021
0.34m
0.34m




0-0057

10 vo039 0 -0030
H=1.83
0-00109
18-8-40BB 0.49m
( )
0-0020
3.39m
0-0021
0.49m
0.49m




0-0058

11 V0040 0 -0031
H=3.00
0-0019
18-8-40BB 0.91m
( )
0-0020
6.22m
0-0021
0.82m
0.82m




0-0059

12 voo41 0 -0032
H=3.009 1
0-0019
18-8-40BB 0. 94mB
( )
0-0020
6. 43 mR2
0-0021
0. 85mpR
0. 85mpR




0-0060

13 v0042 0O -0033
H=3.23
0-0019
18-8-40BB 1.02m
( )
0-0020
6. 94m
0-0021
0.93m
0.93m




0-0061

14 v0o043 0 -00314
H=3.72
0-00109
18-8-40BB 1.20m
( )
0-0020
8.16m
0-0021
1. 10m
1. 10m




0-0062

15 V0044 0 -0035
H=3.77
0-0019
18-8-40BB 1.22m
( )
0-0020
8.29m
0-0021
1.11m
1.11m
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16 V0045 0O -0036
H=3.76
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18-8-40BB 1.22m
( )
0-0020
8.26m
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1.11m
1.11m
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H=4.37
0-00109
18-8-40BB 1. 46m
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9. 85m
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1. 31m
1. 31m
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=4.54
0-00109
18-8-40BB 1.53m
( )
0-0020
10. 30m
0-0021
1. 37m
1. 37m
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=1.20
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6.92m
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0.6) 4.28% [ ] KTPT
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( EKOOO9
RTPC
11.31% RTPT
RTPC
10. 72% RTPT
( RTPC
6. 93% RTPT
RTPC
6.55% RTPT
( EROOO
TTPCD
8, 55. 69 % 24-12-25(20) W/ C 55% TTPTO
) (
1. TTPC
2 4KL 1.89% TTPT




0-0070

SPK21040140 0 -0042
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SPK21040054 0O -0045
7.04% : 90. 11% : 2.85% : 0. 00% 12, 067
( ) ( ) ( ) (
( )
28m3( 0. 2) 1.7t 7.04% 1.7t
( 1,2, 3 ) 0.28m3( 0. 2m3)
48.13%
( )
22.06%
15. 83 %
4. 09%
1.2
, 2 4KL 2.85%
A=1 B=1
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_ ( ) SPK21040056 0 -0046
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2.42% : 32.73% 64. 85% : 0.00% 25,527
( ) ) ( ) (
> ( ) KTPCO0O0O0109
0.28m3( 0.2) 1.7t 2.42% 1.7t KTPT00019
( 1,2,3 ) 0.28m3( 0.2m3)
RTPC000(2
12.63% RTPT000(2
RTPC000(1
11.56% RTPT000(1
( ) ( ) RTPCO0O0O0(6
7.58% RTPT000(6
( ) ( ) ERO0O0O9
TTPCDOO10
18, 8, 40 63.87% 18-8-25(20) W/ C 60% TTPT000d3
w/Cc(6o0 ), ( )
1.2 TTPC0O0013
.2 4KL 0.98% TTPT00013
E99909
A=1 B=2 18-8-40BB
D=1 -
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0.00%
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0-0075
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0
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100

0-0076
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0-0048
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#09
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0-0077

28 ( ) S9035 0 -0048
2.0t 0.8m3 3 1
( )
1.00
, 4KL 112.00 L
> ( )
0.8m3( 0.6) .9t 1.06
( 1,2,3
1
1
A=109 Y 0.8m3 B8112 L/
c=1 ( D=1.06 ( I )




0-0078

( BH ) SHD10003 0 -0049
10
0.278 1*0.278
0.278 1*0.278
0.278 1*0.278
.0t )
x 110cm 10.000
)
10. 00 M3
( ) 0-0050
0. 8m3 3 0.278
#09
4 %
10
1
A=2 ( ) ( 110cmxB%20c m)
D=4 CODE ( m3)




0-0079

S9035 0 -0050
1
1.00
98.00 L
0.8m3( 1.39
1
1
A=2 0.8m3 B=98 (L/ )
c=1 D=1.39 ( I )




0-0080

SHD10011 0 -0051
6 m 10

0.069 1*0.069
0.069 1*0.069

- 28 _ ) 0-0052

2.9t 0. 8m3 0.069

1
10
1

A=1 6 m




0-0081

S9035 0 -0052
1
1.00
74.00 L
0.8m3( 1.26
1
1
A=2 0.8m3 B=34 (L/ )
c=1 D=1.26 ( I )




SHD10037

0

-0053

0-0082

0.500
0.100
2.000
- 28 ) 0-0054
.9t 0.8m3 0.500
1




0-0083

28 ( ) S9035 0 -0054
2.9t 0.8m3 2 1
( )
1.00
, 4 KL 69.00 L
> ( )
0.8m3( 0.86) .9t 1.16
( 1,2,3
1
1
A=12 Y 0.8m3 B269 L/
c=1 ( ) D=1.16 ( I )




0-0084

S1050031 0 -0055
0 40 ( m3/ h) 1
0.140
( ) 0-0056
150 mm, 15m 1.000
. 0kw
-16 _ 0-0057
25k VA 1.000
2
#09
3 %
1




0-0085

( ) S9000045 0O -0056
150mm, 15m 11. Okw
< > (
150 mm, 15m 1.20
11. Okw
1
1
A=7 150 mm, 15m /)




0-0086

16 _ S94609 0 -0057
25k VA 2
, 2 4KL 26.00 L
> (
25k VA 1.20
(. 1,2,3 )
1
1
A=6 25k VA B=2 L/
c=1.2 ( ) D=3 2
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0. 00% 9. 04% : 90. 96 % 0. 00% 4,079
( ) ( ) ( ) (
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RTPCO0O00Q9
2. 72% RTPT000Q9
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< > ) 90. 96 % 300mm TTPT00191
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E9999
A=3 B=2
cC=2 200 400mm D=35 300 mm
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H=0 Il =1 - ( )
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17.900
17.900
1

>
nou

H a1

17.

(t




B E B BB X (Z01)
(&) xmkE )l [ALL)
PN
W LA LAV LAJLE LALS fr FF PR AT PR PR BT PR AT #
KEEIBIE
ANt
utT
TRMEHI B+ m3 3.1 12,7 2.1 31.9 50.8 27.17 128.3
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1Lt m2 1.3 1.5 1.6 1.3 0.8 6.5
3.0=H5.0 2>y y—r 18N/mm2 | m3 1.9 2.2 2.4 6.5
ity —f& - NE m2 12.7 15.1] 16.6 44.4
1Lt m2 1.7 2.00 2.2 5.9
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BRL
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SECT 112.3 2.1 0.3 0.30 0.6 0.5 0.50 1.1
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B 7.50 m2
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SECT167.0 - 2.4
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WbV =3.404x%0.30 = 1.02 WbV = 4.012%0.30 = 1.20
B (=) A= 3 404x2+0.450x0.30 = 6.94 B (=) A= 4012x2+0.450x0.30 = 8. 16
B (L) A =3.108x0.30 = 0,93 (L) A= 3.656x0.30 = 1.10
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A = 1/2x (0.894+1.286) x 3. 920+1/2x (1.386+1. 206) x 0. 450 = 4. 856
PY=b V= 4.856x%0.30 = 1.46
B#(—) A=4.856x2+0.450%0.30 = 9.85

BP(E) A =4.383x0.30 = 1.31

EET B = M E
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& % 9.1 33.8 16.9 6.3
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A = 1/2% (0.894+1.226) x 3.320+1/2 x (1.326+1.146) x 0. 450 = 4.075

why-p

V =4.075%0.30 = 1.22

B (—) A=4.075%2+0.450%0.30 = 8.29

B {) A=3.712x0.30 = 1.11

165/ALT
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A = 1/2x(0.894+1.225) x3.310+1/2% (1.325+1.145) x 0. 450 = 4.063

VLR

V =4.063x0.30 = 1.22

B (—) A=4.063x2+0.450%0.30 = 8.26

B {E) A=3.701x0.30 = 1.11
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A = 1/2x (0. 894+1.303) x 4.090+1/2x (1.403+1.223) x0.450 = 5.084

9)-+  V =5.084x0.30 = 1.53
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